					Responsive			
Respondent Category	Type of Respondent	Activities	Appendix Reference	Sample Size	Number of Respondents	Frequency of Response	Total Annual Responses	Hours per Response
							State and	Local Gov
	State or territory SNAP director	Survey pilot test	В	3	3.00	1	3.00	1.0835
	State or territory SNAP director	Survey advance / follow-up communication	Т	53	53	1.00	53.00	0.0668
	State or territory SNAP director	Survey advance / follow-up communication	U	53	53	1.00	53.00	0.0334
	State or territory SNAP director	Survey advance / follow-up communication	L	53	53	1.00	53.00	0.0334
	State or territory SNAP director	Survey advance / follow-up communication	М	53	53	1.00	53.00	0.0334
	State or territory SNAP director	Survey advance / follow-up communication	Р	53	53	1.00	53.00	0.0334
	State or territory SNAP director	Survey advance / follow-up communication	Q	53	53	1.00	53.00	0.0835
	State or territory SNAP director	Complete survey	В	53	53	1.00	53.00	0.1002
	State or territory SNAP director	Site visit discussion guide pretest	С	1	1	1.00	1.00	1.2500
	State or territory SNAP director	Site visit advance / follow-up communication	R	8	4	1.00	4.00	0.0668
	State or territory SNAP director	Site visit advance / follow-up communication	S	8	4	1.00	4.00	0.0334
	State or territory SNAP director	Site visit advance / follow-up communication	V	8	4	1.00	4.00	0.0668
	State or territory SNAP director	Site visit: Submit program documents	W	4	4	1.00	4.00	1.0000
	State or territory SNAP director	Site visit: Submit aggregate data	X	4	4	1.00	4.00	3.0000
	State or territory SNAP director	Site visit: Semi- structured interview	С	4	4	1.00	4.00	1.0000
	State or territory SNAP E&T director	Survey advance / follow-up communication	K	53	53	1.00	53.00	0.0334

	State or territory SNAP E&T director	Survey advance / follow-up communication	N	53	53	1.00	53.00	0.0334
	State or territory SNAP E&T director	Survey advance / follow-up communication	0	53	53	1.00	53.00	0.0334
	State or territory SNAP E&T director	Survey advance / follow-up communication	Q	53	53	1.00	53.00	0.0835
	State or territory SNAP E&T director	Complete survey	В	53	53	1.00	53.00	0.2171
	State or territory SNAP E&T director	Site visit: Semi- structured interview	С	4	4	1.00	4.00	1.0000
State/local government	State or territory SNAP policy staff	Survey advance / follow-up communication	K	53	53	1.00	53.00	0.0334
	State or territory SNAP policy staff	Survey advance / follow-up communication	N	53	53	1.00	53.00	0.0334
	State or territory SNAP policy staff	Survey advance / follow-up communication	О	53	53	1.00	53.00	0.0334
	State or territory SNAP policy staff	Survey advance / follow-up communication	Q	53	53	1.00	53.00	0.0835
	State or territory SNAP policy staff	Complete survey	В	53	53	1.00	53.00	0.2171
	State or territory SNAP policy staff	Site visit: Semi- structured interview	С	8	8	1.00	8.00	1.0000
	State or territory SNAP policy staff	Site visit: Submit program documents	W	4	4	1.00	4.00	1.0000
	State or territory SNAP policy staff	Site visit: Submit aggregate data	X	4	4	1.00	4.00	3.0000
	State or territory SNAP financial staff	Survey advance / follow-up communication	К	53	53	1.00	53.00	0.0334
	State or territory SNAP financial staff	Survey advance / follow-up communication	N	53	53	1.00	53.00	0.0334
	State or territory SNAP financial staff	Survey advance / follow-up communication	О	53	53	1.00	53.00	0.0334
	State or territory SNAP financial staff	Survey advance / follow-up communication	Q	53	53	1.00	53.00	0.0835
	State or territory SNAP financial staff	Complete survey	В	53	53	1.00	53.00	0.2171
	State or territory SNAP financial staff	Site visit: Semi- structured interview	С	4	4	1.00	4.00	1.0000

	Subtotal for State SN	AP staff (unique)¹		220	216	5.64	1218.00	0.1160
	Local SNAP office director	Site visit discussion guide pretest	C	1	1	1.00	1.00	1.2500
	Local SNAP office director	Site visit: Semi- structured interview	С	10	10	1.00	10.00	1.0000
	Local SNAP office supervisor	Site visit: Semi- structured interview	С	10	10	1.00	10.00	1.0000
	Local SNAP office frontline staff	Site visit discussion guide pretest	С	1	1	1.00	1.00	1.2500
	Local SNAP office frontline staff	Site visit: Semi- structured interview	С	30	30	1.00	30.00	1.000
	Local SNAP office frontline staff	Site visit: Case management observation	D	6	6	2.00	12.00	1.000
	Local SNAP office frontline staff	Site visit: Group activity observation	E	4	4	1.00	4.00	1.000
	Subtotal for local SN (unique) ²	AP office staff		52	52	1.31	68.00	1.007
e/local government subtotal (unique)					200	4.80	1286.00	0.163
te/local g	overnment subtotal (u	nique)		272	268	4.00	1200.00	0.105
te/local g	overnment subtotal (u	nique)		272	268	4.00	Business or	
te/local g	SNAP E&T provider		С	5	5	1.00		Other F
te/local g	SNAP E&T provider	Site visit: Semi- structured interview	C				Business or	1.0000
siness or her for-	SNAP E&T provider director SNAP E&T provider	Site visit: Semi- structured interview Site visit: Semi- structured interview		5	5	1.00	Business of	1.0000
isiness or ther for-	SNAP E&T provider director SNAP E&T provider supervisor SNAP E&T frontline	Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Semi- structured interview	С	5	5	1.00	5.00 5.00	1.0000 1.0000 1.0000
isiness or ther for- profit	SNAP E&T provider director SNAP E&T provider supervisor SNAP E&T frontline staff SNAP E&T frontline	Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Case management observation	C	5 5 15	5 5 15	1.00 1.00 1.00	5.00 5.00	1.0000 1.0000 1.0000
isiness or ther for-	SNAP E&T provider director SNAP E&T provider supervisor SNAP E&T frontline staff SNAP E&T frontline staff	Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Case management observation Site visit: Group activity observation	C C D	5 5 15	5 5 15 9	1.00 1.00 1.00 2.00	5.00 5.00 15.00	
siness or her for-	SNAP E&T provider director SNAP E&T provider supervisor SNAP E&T frontline staff SNAP E&T frontline staff SNAP E&T frontline staff SNAP E&T frontline staff	Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Case management observation Site visit: Group activity observation	C C D	5 5 15 9	5 15 9	1.00 1.00 1.00 2.00	5.00 5.00 15.00 18.00 8.00	1.0000 1.0000 1.0000 1.0000
siness or her for-	SNAP E&T provider director SNAP E&T provider supervisor SNAP E&T frontline staff SNAP E&T frontline staff SNAP E&T frontline staff SNAP E&T frontline staff	Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Case management observation Site visit: Group activity observation	C C D	5 5 15 9	5 15 9	1.00 1.00 1.00 2.00	5.00 5.00 15.00 18.00 8.00	1.0000 1.0000 1.0000 1.0000 1.0000
siness or her for-	SNAP E&T provider director SNAP E&T provider supervisor SNAP E&T frontline staff SNAP E&T frontline staff SNAP E&T frontline staff SNAP E&T frontline staff Subtotal for business (unique) ³	Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Semi- structured interview Site visit: Case management observation Site visit: Group activity observation or other for-profit Site visit: Semi- structured interview	C C D	5 5 15 9 8 25	5 15 9 8 25	1.00 1.00 1.00 2.00 1.00 2.04	5.00 5.00 15.00 18.00 8.00 Not	1.0000 1.0000 1.0000 1.0000

	SNAP E&T frontline staff	Site visit: Case management observation	D	9	9	2.00	18.00	1.0000
	SNAP E&T frontline staff	Site visit: Group activity observation	E	8	8	1.00	8.00	1.0000
	Subtotal for not-for-p	orofit (unique)⁴		25	25	2.04	51.00	1.0000
Business for	Business for and not for profit subtotal (unique)			50	50	2.04	102.00	1.0000
							In	dividuals
	SNAP E&T participants	Site visit: Case management	D	48	40	1.00	40.00	1.0000
Individuala		observation						
Individuals	SNAP E&T participants	Site visit: Group activity observation	E	200	200	1.00	200.00	1.0000
	1.	Site visit: Group activity observation	Е	200				1.0000

Notes:

¹State SNAP staff participating in site visit activities are a subset of the staff members participating in the survey, except for the ²Local SNAP office frontline staff participating in site visit observations are a subset of the staff members participating in site v ³SNAP E&T frontline staff from business providers participating in site visit observations are a subset of the staff members par ⁴SNAP E&T frontline staff from not-for-profit providers participating in site visit observations are a subset of the staff member

Annual Burden (Hours)	Number of Nonrespondents	Frequency of Response	Total Annual Responses	Hours per Response	Annual Burden (Hours)	Grand Total Annual Burden Estimate (Hours)	Hourly Wage Rate	Total Annualized Cost of Respondent Burden
ernment								
3.25	0	0.00	0.00	0.00	0.00	3.25	\$55.88	\$181.64
3.54	0	0.00	0.00	0.00	0.00	3.54	\$55.88	\$197.84
1.77	0	0.00	0.00	0.00	0.00	1.77	\$55.88	\$98.92
1.77	0	0.00	0.00	0.00	0.00	1.77	\$55.88	\$98.92
1.77	0	0.00	0.00	0.00	0.00	1.77	\$55.88	\$98.92
1.77	0	0.00	0.00	0.00	0.00	1.77	\$55.88	\$98.92
4.43	0	0.00	0.00	0.00	0.00	4.43	\$55.88	\$247.30
5.31	0	0.00	0.00	0.00	0.00	5.31	\$55.88	\$296.76
1.25	0	0.00	0.00	0.00	0.00	1.25	\$55.88	\$69.85
0.27	4	1.00	4.00	0.0668	0.27	0.53	\$55.88	\$29.86
0.13	4	1.00	4.00	0.0334	0.13	0.27	\$55.88	\$14.93
0.27	4	1.00	4.00	0.0668	0.27	0.53	\$55.88	\$29.86
4.00	0	0.00	0.00	0.00	0.00	4.00	\$55.88	\$223.52
12.00	0	0.00	0.00	0.00	0.00	12.00	\$55.88	\$670.56
4.00	0	0.00	0.00	0.00	0.00	4.00	\$55.88	\$223.52
1.77	0	0.00	0.00	0.00	0.00	1.77	\$55.88	\$98.92

\$55.88	1.77	0.00	0.00	0.00	0.00	0	1.77
\$55.88	1.77	0.00	0.00	0.00	0.00	0	1.77
\$55.88	4.43	0.00	0.00	0.00	0.00	0	4.43
\$55.88	11.51	0.00	0.00	0.00	0.00	0	11.51
\$55.88	4.00	0.00	0.00	0.00	0.00	0	4.00
\$49.31	1.77	0.00	0.00	0.00	0.00	0	1.77
\$49.31	1.77	0.00	0.00	0.00	0.00	0	1.77
\$49.31	1.77	0.00	0.00	0.00	0.00	0	1.77
\$49.31	4.43	0.00	0.00	0.00	0.00	0	4.43
\$49.31	11.51	0.00	0.00	0.00	0.00	0	11.51
\$49.31	8.00	0.00	0.00	0.00	0.00	0	8.00
\$49.31	4.00	0.00	0.00	0.00	0.00	0	4.00
\$49.31	12.00	0.00	0.00	0.00	0.00	0	12.00
\$40.03	1.77	0.00	0.00	0.00	0.00	0	1.77
\$40.03	1.77	0.00	0.00	0.00	0.00	0	1.77
\$40.03	1.77	0.00	0.00	0.00	0.00	0	1.77
\$40.03	4.43	0.00	0.00	0.00	0.00	0	4.43
\$40.03	11.51	0.00	0.00	0.00	0.00	0	11.51
\$40.03	4.00	0.00	0.00	0.00	0.00	0	4.00
	\$55.88 \$55.88 \$55.88 \$55.88 \$49.31 \$49.31 \$49.31 \$49.31 \$49.31 \$49.31 \$49.31 \$40.03 \$40.03	1.77 \$55.88 4.43 \$55.88 11.51 \$55.88 4.00 \$55.88 1.77 \$49.31 1.77 \$49.31 4.43 \$49.31 11.51 \$49.31 8.00 \$49.31 4.00 \$49.31 12.00 \$49.31 1.77 \$40.03 1.77 \$40.03 4.43 \$40.03 4.43 \$40.03 11.51 \$40.03	0.00 1.77 \$55.88 0.00 4.43 \$55.88 0.00 11.51 \$55.88 0.00 4.00 \$55.88 0.00 1.77 \$49.31 0.00 1.77 \$49.31 0.00 4.43 \$49.31 0.00 4.00 \$49.31 0.00 4.00 \$49.31 0.00 4.00 \$49.31 0.00 1.77 \$40.03 0.00 1.77 \$40.03 0.00 1.77 \$40.03 0.00 1.77 \$40.03 0.00 4.43 \$40.03 0.00 4.43 \$40.03	0.00 0.00 1.77 \$55.88 0.00 0.00 4.43 \$55.88 0.00 0.00 11.51 \$55.88 0.00 0.00 4.00 \$55.88 0.00 0.00 1.77 \$49.31 0.00 0.00 1.77 \$49.31 0.00 0.00 1.77 \$49.31 0.00 0.00 4.43 \$49.31 0.00 0.00 11.51 \$49.31 0.00 0.00 8.00 \$49.31 0.00 0.00 4.00 \$49.31 0.00 0.00 12.00 \$49.31 0.00 0.00 1.77 \$40.03 0.00 0.00 1.77 \$40.03 0.00 0.00 1.77 \$40.03 0.00 0.00 1.77 \$40.03 0.00 0.00 1.77 \$40.03 0.00 0.00 1.77 \$40.03 0.00 0.00 1.75 \$40.03 0.00 0.00 1.75 \$40.03	0.00 0.00 0.00 1.77 \$55.88 0.00 0.00 0.00 4.43 \$55.88 0.00 0.00 0.00 11.51 \$55.88 0.00 0.00 0.00 4.00 \$55.88 0.00 0.00 0.00 1.77 \$49.31 0.00 0.00 0.00 1.77 \$49.31 0.00 0.00 0.00 1.77 \$49.31 0.00 0.00 0.00 11.51 \$49.31 0.00 0.00 0.00 11.51 \$49.31 0.00 0.00 0.00 4.00 \$49.31 0.00 0.00 0.00 4.00 \$49.31 0.00 0.00 0.00 12.00 \$49.31 0.00 0.00 0.00 1.77 \$40.03 0.00 0.00 0.00 1.77 \$40.03 0.00 0.00 0.00 1.77 \$40.03 0.00 0.00 0.00 1.77 \$40.03 0.00 0.00 0.00 1.77	0.00 0.00 0.00 1.77 \$55.88 0.00 0.00 0.00 0.00 4.43 \$55.88 0.00 0.00 0.00 0.00 11.51 \$55.88 0.00 0.00 0.00 0.00 4.00 \$55.88 0.00 0.00 0.00 0.00 1.77 \$49.31 0.00 0.00 0.00 0.00 1.77 \$49.31 0.00 0.00 0.00 0.00 1.77 \$49.31 0.00 0.00 0.00 0.00 1.77 \$49.31 0.00 0.00 0.00 0.00 11.51 \$49.31 0.00 0.00 0.00 0.00 \$49.31 0.00 0.00 0.00 0.00 \$49.31 0.00 0.00 0.00 0.00 1.77 \$40.03 0.00 0.00 0.00 0.00 1.77 \$40.03 0.00 0.00 0.00 0.00 1.77 \$40.03 0.00 0.00 0.00 0.00 1.77 <td< td=""><td>0 0.00 0.00 0.00 0.00 1.77 \$55.88 0 0.00 0.00 0.00 0.00 4.43 \$55.88 0 0.00 0.00 0.00 0.00 11.51 \$55.88 0 0.00 0.00 0.00 0.00 4.00 \$55.88 0 0.00 0.00 0.00 0.00 1.77 \$49.31 0 0.00 0.00 0.00 0.00 1.77 \$49.31 0 0.00 0.00 0.00 0.00 1.77 \$49.31 0 0.00 0.00 0.00 0.00 1.77 \$49.31 0 0.00 0.00 0.00 0.00 1.151 \$49.31 0 0.00 0.00 0.00 0.00 11.51 \$49.31 0 0.00 0.00 0.00 0.00 3.00 \$49.31 0 0.00 0.00 0.00 0.00 3.40 \$49.31 0 0.00 0.00 0.00 0.00 1.77 <td< td=""></td<></td></td<>	0 0.00 0.00 0.00 0.00 1.77 \$55.88 0 0.00 0.00 0.00 0.00 4.43 \$55.88 0 0.00 0.00 0.00 0.00 11.51 \$55.88 0 0.00 0.00 0.00 0.00 4.00 \$55.88 0 0.00 0.00 0.00 0.00 1.77 \$49.31 0 0.00 0.00 0.00 0.00 1.77 \$49.31 0 0.00 0.00 0.00 0.00 1.77 \$49.31 0 0.00 0.00 0.00 0.00 1.77 \$49.31 0 0.00 0.00 0.00 0.00 1.151 \$49.31 0 0.00 0.00 0.00 0.00 11.51 \$49.31 0 0.00 0.00 0.00 0.00 3.00 \$49.31 0 0.00 0.00 0.00 0.00 3.40 \$49.31 0 0.00 0.00 0.00 0.00 1.77 <td< td=""></td<>

141.25	4	3.00	12.00	0.0557	0.67	141.92		\$7,233.21
1.25	0	0.00	0.00	0.00	0.00	1.25	\$55.88	\$69.85
10.00	0	0.00	0.00	0.00	0.00	10.00	\$55.88	\$558.80
10.00	0	0.00	0.00	0.00	0.00	10.00	\$49.31	\$493.10
1.25	0	0.00	0.00	0.00	0.00	1.25	\$24.27	\$30.34
30.00	0	0.00	0.00	0.00	0.00	30.00	\$24.27	\$728.10
12.00	0	0.00	0.00	0.00	0.00	12.00	\$24.27	\$291.24
4.00	0	0.00	0.00	0.00	0.00	4.00	\$24.27	\$97.08
68.50	0	0.00	0.00	0.00	0.00	68.50		\$2,268.51
209.75	4	3.00	12.00	0.0557	0.67	210.42		\$9,501.72
or-Profit								
5.00	0	0.00	0.00	0.00	0.00	5.00	\$55.88	\$279.40
5.00	0	0.00	0.00	0.00	0.00	5.00	\$49.31	\$246.55
15.00	0	0.00	0.00	0.00	0.00	15.00	\$24.27	\$364.05
18.00	0	0.00	0.00	0.00	0.00	18.00	\$24.27	\$436.86
8.00	0	0.00	0.00	0.00	0.00	8.00	\$24.27	\$194.16
51.00	0	0.00	0.00	0.00	0.00	51.00		\$1,521.02
t								
5.00	0	0.00	0.00	0.00	0.00	5.00	\$35.05	\$175.25
5.00	0	0.00	0.00	0.00	0.00	5.00	\$35.05	\$175.25
15.00	0	0.00	0.00	0.00	0.00	15.00	\$22.55	\$338.25

18.00	0	0.00	0.00	0.00	0.00	18.00	\$22.55	\$405.90
8.00	0	0.00	0.00	0.00	0.00	8.00	\$22.55	\$180.40
51.00	0	0.00	0.00	0.00	0.00	51.00		\$1,275.05
102.00	0	0.00	0.00	0.00	0.00	102.00		\$2,796.07
40.00	8	1.00	8.00	0.2004	1.60	41.60	\$7.25	\$301.62
200.00	0	0.00	0.00	0.00	0.00	200.00	\$7.25	\$1,450.00
240.00	8	1.00	8.00	0.2004	1.60	241.60		\$1,751.62
551.75	12	1.67	20.00	0.1136	2.27	554.02		\$14,049.41

e four State policy staff submitting program documents and aggregate data for the case studies, but not participating in the survisit interviews. Therefore, the counts of unique individuals only include the staff participating in interviews. Therefore, the counts of unique individuals only include the staff participating in interviews s participating in site visit interviews. Therefore, the counts of unique individuals only include the staff participating in interviews.

vey. Therefore, the counts of unique individuals only include the up to four individuals from each of 53 States and territor	I
iews.	

